Math 9 Enriched

Final Exam Review

Name Date
1. In AABC, m/C =90°, AC =3, BC =4, and 2. In AABC, m/C =90°, AC =3, BC = 4, and
AB =5. Find cos ZA. AB = 5. Find cot ZB.
3. Find sin 32°. 4. Find tan45°.
5. Find sinZA. 6. Find cos/ZA.
B
65°
25°
c A
7. Ifsinf = %, find 6 to the nearest degree. 8. Iftan/K = 1—70, find m/ K to the nearest degree.
9. Ifsin/B= %, find AB. 10. If a=7 and b=9, find mZ A to the nearest tenth
of a degree.
A
A
3 c
b
c B
c a B
11. Find sin 30°. 12. Find sin60°.
13. Find sin45°. 14. Find cos30°.
15. If AC =1, find BC. 16. If AB =2, find BC.
A
60°
30°
c B
17. When an 11 foot 11 inches tall tree casts a 18. If cos/F = %, find tan ZF.

10 inch long shadow, what is the angle of
elevation of the sun?



19.

21.

23.

25.

27.

29.

A wire 32 feet long is attached to the top of a
flagpole 23 feet long. Approximately what is the
measure of the angle the wire makes with the
ground? Round your answer to the nearest tenth
of a degree or nearest ten minutes.

vV g s v s U

Find the exact value of each labelled part in the

figure.
14 45°\ ¢
b
60°
a a

b—45, a =56°, 3= 72°
a=9 b=12 a=47°

a=4,b=5, v=30°

A rectangular patio is surrounded on three sides
by a fence (the remaining side is up against the

house). If the area of the patio is 38 m?, and the
total length of fence is 18 m, what is the length

and width of the patio?

20.

22.

24.

26.

28.

30.
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Solve the right triangle if /A = 41° and
b=12.5 centimeters. Give lengths to 3 significant
figures and angles to the nearest tenth of a
degree.

c A

Find the exact value of each labelled part in the
figure.

b=27, a=54, B=230°
a=6.9, c=114, 3 =141°

Two fire towers, at points A and B, are on

a lakeshore 40 kilometers apart. Each has
visual contact with a ranger at point C. If
m/ CAB = 20°30" and m/ CBA = 110°, how far

is the ranger from point A?

The equation of the axis of symmetry of a
parabola is © 4+ 2 = 0 and one point on the graph
is P(5,3). Find another point on the graph.
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A rectangular swimming pool is 12 meters long
and 8 meters wide. It is surrounded by a cement
walkway of uniform width. The area of the
walkway is twice the area of the pool. How wide

31.

is the walkway?
Simplify.
32. V8d?
3 3 —1252%y427

Ra2yl024
36. —3/40-3/60
38. V8aP(—v2a3)
40. 2cdV5c3d - V55¢d?
49 SV
3v5
3
B
e)/_32
3 4 7

g6, S¢S

\/12e2 f3
48.  —/121 + /144 — /49
50. V/49¢2 + V/64e3
52. —3y</64y® — 2/486y!
Factor.
53. 162 — 45z + 3z
55. 4m? — 324

57. 2(k—4) — k(k —4) + k*(k — 4)

59.

21623 — 12543

Solve.

61.
63.

Simplify (assume variable expressions are positive).

64.

0=p>+5p+2

2z — 322 = =2z — 12

(m3—x2—17m+12)+(4+m)

33.

35.

37.

39.

41.

43.

45.

47.

49.

51.

54.

56.

58.

60.

62.

65.

./1024a°b10
16,807
v/ v/512m%n18

(—2415)(2/30 ) (—V/45)
V33c2d - V66d°cD

V3a+6:+/3a—6

1, /2

5 3

5n
Vv 15n

=Yy

x2y — xy?
2480 — 3v/45 + 3v/245
—3cd\/T5¢ + 2V 12c3d2

35¢b? — 14¢b — 21c
m? — 98m? + 2401
27 — 64y

64 — w

a2+ Ta=15

(Tz* — 523 + 3522 — 462 4 15) + (T2 — 5)



Solve by completing the square.

66. m?+6m=—7 67.
68. Factor 2% — y? completely. 69.
\/_, L
70. Simplif \/5
. Simplify: ————— =
plity: ———~
N
Find the slope.
71. (3,-3) (41,0 72.
73. (%7%) (_%7%) 74.
7. (p—1,-8p) (9p—1,7p) 76.
T77. A segment has endpoints at (k,k + 4) and 78.

(8 — k,k +2). What is the midpoint?

79. Given K(0,5), M(—1,—2) and N(7,10). Write 80.

the equation of the line which passes through K
and the midpoint of MIN.

81. Given E(—7,4) and F(1,—8). Write the equation

of the line which is perpendicular to and
contains the midpoint of EF.

Solve.

82. 3x—y=0 83.
504+5=0

84. z—-—y+4=0 85.
—2x+y—-8=0

86. y=a>+2 87.
y=-—-3x+2

88. a—2b+c+d—e=4 89.
a—c—d=1
b+c+e=-2
2a —c+2d =12
a+2b+d+e=4

90. 3+ 1(7—3n)>1(2-3n)+4 91.
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3224+ 122+15=0

Factor (z2 + 2x)% — 11(x? + 2x) + 24 completely.

(2z,y) (Tw,2y)
(a+b,b) (a—b,—b)
contains (2,—2) and (—6,1)

What are the x- and y-intercepts of the line:
—5r4+16y—6=07

Given A(0,-3), B(3,8) and C(—2,5). Write the
equation of the line which passes through B and
is parallel to AC.

—2x4+5y—z=—4
dr —5y+2=9
2¢ + 10y 4+ 32 = 12

18+ 6¢c>4c—5

A triangle has vertices (-5, —-2), (2,—2), and
(—5,3). Find the perimeter of the triangle.
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92. For what value(s) of k are the points (k + 3,—6), 93. A tower 52m high can be seen from a point P
(5,k—7), and (2,2) collinear? on a level with the foot of the tower. If the
angle of elevation to the top of the tower is 38°,
then how far is P from the base of the tower?
Answer to 1 decimal place.

94. If sinf = % then what is the tan6?
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52.
55.
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61.
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70.
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3

5
1.000
46°
37.9°
V2

2
V3
46.0°

a=16v2, b=8v?2, r =162,
s =32

c¢=10.18, 3 =77.2°, v =55.8°
or ¢ = 6.19, B = 102.8°,

v =30.2°

49.43 km

~3.5m

=5z
292

601/10
10c3d?v/11d
V30
15

13T
201/5
—12y2 /2y
4(m+9)(m —9)
(3 — 4y)(9 + 12y + 16y?)
—5+V17

2

11.

14.
17.
20.

23.

26.

29.
32.
35.

38.
41.

44.
47.

50.
53.
56.
59.
62.

65.
68.

71.
74.
7.
80.
83.
86.
89.
92.

Final Exam Review Mr.

~
vy

= 49.0°,
c =~ 16.6cm
v =52° ¢=37.3, a =39.2

a =~ 10.9cm,

b=17.3, a = 14.5° v = 24.5°

about 11.2 x 3.4m

2a
2mn?
—4qa*
3WVa? -4
-1
N
Ty
Te + 8ev/e
3(6 —z)(9—z)

(m+17)%(m—1)>2
(62 — 5a)(3622 + 30az + 254?)
—7+v/109
2
3 45z —3
2y _ )(x4y 4 x2yy3w 4 y6z>

-3)

Young

12.

15.
18.
21.

24.

27.

30.
33.
36.

39.
42.

45.
48.

51.
54.
57.
60.
63.

66.
69.

72.
5.
78.
81.
84.
87.
90.
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2015-06-03
0.5299
0.9063
4
V3
2
V3
3
4
a=17,b= 7\/§ c= 7\/_
d= f
=273, a=90° v =60°

a=525° B=975° c=25

(_97 3)
—4ab?

7
—150v/6
33d3c3v/2¢
8v/55

15
V15n

3
-6
—11edV/3c
Te(b— 1)(5b + 3)

(k—4)(2 —k+k?)

(4 — w?)(16 + 4w? + w?)
121{10

-34++2

(z—1)(z

bz

—2)(z+ 3)(z+4)
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TRI MC 1
TRI MC 62
TRI MF 1
TRI MH 2
TRI MI 1
TRI MK 7
TRI OH 53
TRI QF 17
TRI QG 33
CM1 ME 55
TRI BB 55
TRI BC 39
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TRI BD 31
TRI BD 105
TRI BE 1
TRI BE 80
TRI AD 12
TRI AD 52
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